Worksheet Maths 3™ ESO

ALGEBRAIC FRACTIONS 1
1.- Simplify, factorising (if possible) numerator and denominator:

0 4x%-16 _
8x +16
3x% —18x +27 _

b
) 6x* -54

2x3 —8x°% + 8x _

) ex —24x’

2.- Work out and simplify:

x? -4 2x-2 _
x?-2x+1 6x+12

a)

x*-4 2x-4 _
x?—4x+4 (x+2)

b)

x*-9 x-3 _
8x2  4x3

c)

xXP-6x+9 x*-9

d = =
) 8x +16 4x+8

o) x2—1+x—1:
8x X

x*+1 X _
2(x-1) x-1

f)
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SOLUTION
1.- Simplify, factorising (if possible) numerator and denominator:

4x2-16 4(x*-4) 4(x-2)x+2) x-2

a)

8x+16 8(x+2)  8x+2) 2
by 3 ~18x+27 _3x*-6x+9) 3x-3F _ x-3
6.x% — 54 6(x2-9)  6(x+3)x-3) 2(x+3)
2x3 —8x% +8x _ 2x(x? —4x +4) (x-2F  x-2

c)

6x* —24x°  6x:(x2-4) 3x(x+2)(x-2) 3x(x+2)

2.- Work out and simplify:

x*-4 2x-2 _(x+2)x-2)-2(x-1) _ x-2

x?-2x+1 6x+12  (x-1F-6(x+2)  3(x-1)

a)

x*-4 2x-4 (x+2)(x-2)-2(x-2) 2

b . - =
)x2—4x+4 (x+2Y (x -2 (x+2) X+2

x*-9 x-3_ (x*=9)-4x®  (x+3)(x—3)x _ x(x+3)

2 8x>  4x®  8x%-(x-3) 2(x-3) 2

d)x2—6x+9;x2—9:(x2—6x+9)(4x+8): (x-3F4(x+2) _
8x+16 4x+8  (8x+16)x2-9)  8(x+2)x+3)(x-3)

_ (x-3)  x-3

C2(x+3) 2x+6

x2—1+x—1:x2—1+8x—8:x2+7x—8

e) 8x X 8x 8x 8x
LCF =8x
x? +1 x _xP+l-2x  (x-1¢ x-1

f)2(x-1) x-1 2(x-1 2(x-1) 2
LCF =2(x-1)



